SQR [] &% — ¥ 1Li%EE

ThEE ~ MER « FTIBHEIESRE - AEEEE - THMER

IhAE HIER
@ REEHEUTERR @ RABFAR B o HE g | SQRC | SQRH | SQRL | SQRM
(IR EEES ) fERmA =R
© (EEREUIED) AU HE BN Z1RE o [EREIGEE Ieflcm (7o 0-9(09)
B R EE “c 0~60
N REBHEES  mmng 750
ACEE O
{EEIEE kef/cm?(MPa) 0.5(0.05)
FTRETBIT SR SQRC 6-01-A
1 2 3 4
1 MR 2 BE 3 FE 4 [ | peism
K5t | 2% (mm) ter | anl A | FEREAZS
4 @4 M5 M5x 0.8 B FL o A
6 26 01 PT 1/8"
8 @8 02 PT 1/4"
SQRC: B ¥IHEeE SQRL: L B3 Fi%EE 10 @10 03 PT 3/8"
12 @12 04 PT 1/2"
A ) A
5/32 | ©3.97 10/32 | NR10/32"
SQRH: ZIBIIHETE | SQRM: ML 14 | 9635 L/SH NRISE
5/16 | ©7.94 1/4 | NPT1/4"
3/8 @9.53 3/8 NPT 3/8"
1/2 ?12.7 1/2 | NPT1/2"
HEERERTED
REEE S THMER
© SQRC &7l C SQRH &7l pern &R v
01 ] 48
02 N =
03 P Eas
04 EBR Eas
05 15 PU 5 Nylon
06 MA R
o7 B ]
08 omm il A

© SQRL &5

2 g

08

© SQRM #5351

_ R_ale”

02, 06, 01




SQR [ &% — #.Li%5R
P58

B ERES A M
© SQRC %7
© - [A] FmARS - @

o - FLIREAIES

Rl ElEpc!
ElEpc! LA
©C SQRH &7l
o - SRk E A SRS - iEE o - FLug A4
B BUEAR
A LN nJ LN
& ﬂg
Ul %:Rﬂ U J m
AR BHERA
O SQRL %571
o - TF i A - A o - FL Ui i A B2 1)
L0 > LN

}f O dikim

BERA

A B

© SQRM %5l
o - R AR - E%

BERA

& Tu—@\—'m":%ur
=N

BHERA



SQR [ &%l — ¥ 1Li&5E
SMERER R~ / SQRC » SQRH

SQRC &% B ¥ ILIZEE

©C AHIREE o
B{il : mm
B R y HE | EREEE | E2
@D | Re(PT) 2 R c €| ee | L H (mm?) )
o M5  |SQRC4-M5-[] 36 | 30 | 139 | 10 | 317 | 10 3.9 11.5
1/8"  [SQRC4-01-0J 6 | 245|139 | 10 | 275 | 10 49 10.5
6 1/8" [SQRC6-01-0 6 | 288 | 156 | 124 | 318 | 12 125 155
i) 1/4"  |SQRC6-02-0J 9 | 273 | 156 | 124 | 335 | 14 12.5 22
' 28 1/8"  [SQRC8-01-0J 6 | 305|168 | 14 | 335 | 14 12.5 21
1/4"  |SQRC8-02-0 9 29 | 168 ] 14 | 335 | 14 19.5 21
210 3/8" |SQRC10-03-[] 12 | 564 | 203 | 25 | 624 | 24 58 45
1/2"  [SQRC10-04-0J 15 | 605 | 203 | 28 | 685 | 27 58 50.5
@12 3/8" SQRC12-03-1 12 58.4 | 223 25 64.4 24 58 42
1/2"  |SQRC12-04-0J 15 63 | 223 | 28 71 27 58 475
OC IS -
Bl : mm
BE | ) B | HXUEE | B2
@D | (NR/NPT) == A B €6 L Tam | @
5/32" NR10/32" [SQRC5/32-10/32-00 | 3.6 | 30 | 139 | 10 | 317 | 10 3.9 11.5
1/8" |SQRC5/32-1/8-00 6 | 245|139 ] 10 | 275 | 10 49 10.5
1/a" 1/8" |SQrRC1/4-1/8-0 6 | 288 | 156 | 124 | 318 | 12 125 155
1/4"  [SQRC1/4-1/4-0J 9 | 273 | 156 | 124 | 335 | 14 12.5 22
5/16" 1/8"  |SQRC5/16-1/8-00 6 | 305 | 168 | 14 | 335 | 14 12.5 21
o 1/4"  |SQRC5/16-1/4-0 9 29 | 168 ] 14 | 335 14 19.5 21
ol NPT 3/g" 3/8" |SQRC3/8-3/8-0] 12 | 564 | 203 | 25 | 624 | 24 58 45
1/2" [SQRC3/8-1/2-0J 15 | 605 | 203 | 28 | 685 | 27 58 50.5
SQRH &% Zi@i %58
O KIS -
B :mm
B 0 BEEE g2
D B= E € e (mm?) ®
o4 SQRH4-4 39.4 13.9 10 4.9 6
26 SQRH6-6 452 15.6 12.4 12.5 10
28 SQRH8-8 48.9 16.8 14 19.6 13
B O EHIFFS -
2-C B : mm

[a]

@j B ) BRGER | =8
wr* —r @D1 2= B € 2 (mm?) (&)
- L q 3/8" SQRH 5/32-5/32 39.4 13.9 10 4.9 6

o 1/4" SQRH 1/4-1/4 452 15.6 12.4 12.5 10
5/16"  |SQRH 5/16-5/16 489 16.8 14 19.6 13
©C AHIFEE -
Bl :mm
B B y AREREE B2
@01 | oD2 2= E o G = (mm?) ©
@10 | @10 |SQRH10-10 72.6 20.3 20.3 25 58 61.5
@12 | @12 [SQRH12-12 76.7 223 223 25 58 57
O EHIRE i
B :mm
BR B 1 BEEE E
oDl | oD2 2= = G G 26 (mm?) ®
3/8" | 3/8" |SQRH3/8-3/8 726 20.3 20.3 25 58 61.5
1/2" | 1/2" [SQRH1/2-1/2 76.7 223 223 25 58 57




SQR [ &% — #.Li%5R
SMREIAZR T / SQRL

SQRL %% L B IHIZER

C AR @
B{L:mm
%gg R U] AlB | c|E |oc| L BB Bl Egg;i
i M5 | SQRL4-M5-0J | 3.6 | 19.8 | 13.8 | 31.3 | 10.5 | 164 | 10 3.9 6
i o4 1/8" | SQRL4-01-0J 6 | 224 | 138|313 | 105 | 202 | 10 4.9 10
1/4" | SQRL4-02-0] 9 | 241|138 |3L3| 105 | 234 | 14 125 16
M5 | SQRL6-M5-[1 | 36 | 225 | 157 | 38 | 125 | 19 | 10 3.9 8.5
i 26 1/8" | SQRL6-01-] 6 |259 | 157 | 38 | 125|228 | 10 4.9 10.5
= 1/4" | SQRL6-02-[] 9 | 277|157 | 38 | 125 | 27.1 | 14 125 18
3/8" | SQRL6-03-[] 9 | 284|157 | 38 | 125|278 | 17 125 225
1/8" | SQRL8-01-0J 6 | 276 | 168 | 415 | 143 | 244 | 12 4.9 135
28 1/4" | SQRL8-02-0J 9 | 294|168 | 415 | 143 | 27.7 | 14 19.6 19
3/8" | SQRL8-03-[] 9 [301 168 | 415 | 143 | 284 | 17 19.6 24.5
= c 1/8" | SQRL10-01-C] | 9 | 316|204 | 75 | 17.8 | 25.7 | 17 4.9 27
8| a0 1/4" | SQRL10-02-00 | 9 | 334|204 | 75 | 178 | 29 | 17 19.6 29
— === d 3/8" | SQRL10-03-0J | 9 | 341|204 | 75 | 17.8 | 29.7 | 17 58 31
) 1/2" | SQRL10-04-[1 | 11 | 361 | 204 | 75 | 17.8 | 32.7 | 21 58 46
R 1/4" | SQRL12-02-0J 9 | 382 232|783 212|322 17 49 36
R 212 3/8" | SQRL12-03-01 | 9 | 369|232 | 783 | 212|322 | 17 58 36
1/2" | SQRL12-04-00 | 11 | 389 | 232 | 783 | 212 | 352 | 21 58 50
C MRS -
B{L:mm
i i B AlB|c|E o L BB il i;ggi
NR10/32" | SQRL5/32-10/32-7 | 3.6 | 19.8 | 13.8 | 31.3 | 10.5 | 16.4 | 10 3.9 6
5/32" | 1/8" | SQRL5/32-1/8-0] 6 |22.413.8[313|105|202| 10 4.9 10
1/4" | SQRL5/32-1/4-0J 9 |241|13.8 313|105 234 | 14 12.5 16
NR10/32" | SQRL1/4-10/32-[0 | 3.6 (225|157 | 38 |125| 19 | 10 3.9 8.5
s 1/8" | SQRL1/4-1/8-] 6 |259|157| 38 | 125|228 | 10 4.9 10.5
1/4" | SQRL1/4-1/4-0] 9 |27.7|157| 38 | 125|271 | 14 125 18
3/8" | SQRL1/4-3/8-0J 9 |284|157| 38 | 125|278 | 17 12.5 225
1/8" | SQRL5/16-1/8-0J 6 |27.6|16.8 415|143 | 244 | 12 4.9 135
5/16" | 1/4" | SQRL5/16-1/4-[] 9 | 294|168 415|143 |27.7| 14 19.6 19
3/8" | SQRL5/16-3/8-[ 9 |30.1|16.8|41.5|143|284 | 17 19.6 24.5
1/8" | SQRL3/8-1/8-0J 9 |31.6|204 | 75 |17.8|257 | 17 4.9 27
38" 1/4" | SQRL3/8-1/4-0] 9 |334|204| 75 |17.8| 29 | 17 19.6 29
3/8" | SQRL3/8-3/8-[ 9 |341|204 | 75 |17.8|29.7 | 17 58 31
1/2" | SQRL3/8-1/2-[] 11 |36.1 (204 | 75 |17.8|327| 21 58 46
1/4" | SQRL1/2-1/4-0 9 |38.2|232|783|21.2|322| 17 4.9 36
12" 3/8" | SQRL1/2-3/8-0J 9 |36.9|232 783|212 322 17 58 36
1/2" | SQRL1/2-1/2-00 11 [38.9]232|783|212|352 | 21 58 50




SQR [J &% — #1ki%sH

SMEER.R | SQRM

SQRM &5 [t ¥ IE1%ER

P

|

‘:TS”
|

Z-GD‘
Q

©C AR -
B :mm
%L’m Fi U] G | G| E |@6| L ﬂf ﬂiﬁ Rl i;g;i
o4 M12x1 |[SQRM4-4 12.1 | 13.8 | 16.2 | 105 49 14 14 4.9 2
26 M14x1 |[SQRM6-6 17 15.7 17 12.5 55 17 17 12.5 25
a8 M16x1 |[SQRM 8-8 188 | 16.8 | 18.8 | 143 63 17 19 19.6 35
210 | M20x1 [SQRM10-10 21 20.4 21 17.8 98 24 24 58 115
@12 | M22x1 |SQRM 12-12 236 | 23.2 | 21.2 | 21.2 | 103 24 27 58 135
O HEFIHMR -
B : mm
1/4" | M14x1 |SQRM 1/4-1/4 17 15.7 17 12.5 55 17 17 12.5 25
S 5/16" | M16x1 |SQRM 5/16-5/16 18.8 | 16.8 | 18.8 | 14.3 63 17 19 19.6 35
& 3/8" | M20x1 |SQRM 3/8-3/8 21 20.4 21 17.8 98 24 24 58 115




	3.0-A_部分1043
	3.0-A_部分1083
	3.0-A_部分1084
	3.0-A_部分1085
	3.0-A_部分1086
	3.0-A_部分1087



